~_FM.A

ANTENNAS

Part# RFM-T70

Antenna Mounting Tripod. Heavy Duty, Portable, Adjustable 47-79 Inches Tall

=

®

00

@

&

@

\%2)

— -

@

&

@35 Plastic Cap

Safety Pin

®35*0.7%930mm Center Pipe

M6 Nut

®35-P38 Plastic Joint

M6 Jam Nut

M6 Arch Washer

®35*0.7*663mm Leg Pipe

OV |WIN]F-

20*3*340 Strip Steel

=
o

M6*16 Screw

[N
[y

®38 Plastic Joint

=
N

M6 Knob

S
w

M6*25 Screw

=
'S

Plastic Joint

R
(2]

M6*48 Screw

=
[e)]

®38*0.7*850mm Main Pipe

=
~

®6 Washer

=
oo

Rubber Feet

R
Y]

Spring

*all measurements in mm




